> restart
> Ecuacion := diff (z(x,y), x$2) + 5-diff (z(x,y), X, y) + 6-diff (z(x,y), y$2) =

o P & &
Ecuacion:= — z(x,y) +5 ( oy X z(x,y)) +6 ( ay Z(X, y)j =0 Q)
[ > Solucion := pdsolve(Ecuacion)
i Solucion:=z(x,y) = _F1(y —3x) +_F2(y —2x) 2
> Ecua := diff (y(x, t), t$2) =8-diff (y(x, 1), X)
Ecua'-i X t) =8 9 X, t 3
= Y0 =85y )
[ > Sol == pdsolve(Ecua)
2
Sol:= (y(x,t) =_F1(x) _F2(t)) &where H% _F1(x) =_¢; _F1(x), j— _F2(t1) 4
t

:8_cl_F2(t)H

:> with(PDEtools) :
> SolGral = build(Sol)
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SolGral :=y(x,t) =_Cle ! _ ( /_) + = Cle —C3 (5)
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